BECKER ORIGINAL PARTS

SCREW KIT
NO. 96690054400

MAKE IT BECKER

MORE DETAILS = SEE ALSO SPARE PARTS LIST

-U5.165
-U5.200

Description Dimensions [eVETIY]

HEXHEAD SCREW
WASHER
HEXHEAD SCREW
HEXHEAD SCREW
WASHER
HEXHEAD SCREW
HEXHEAD SCREW
STUD

WASHER
HEX-NUT
HEXHEAD SCREW
WASHER
HEXHEAD SCREW
HEXHEAD SCREW

ORIGINAL
PARTS

MAKE IT BECKER

since 1885 E K

WWW.BECKER-INTERNATIONAL.COM

WWW.BECKER-INTERNATIONAL-SHOP.COM

M8 x 25 mm

12/6,4 mm 9
M6 x 10 mm 5
M6 x 20 mm 4
11/6,4 mm 26
M6 x 60 mm 16
M6 x 70 mm 10
M8 x 20 mm 4
15/8,4 mm 13
M8

M8 x 30 mm

9/43mm

M4 x 8 mm

M8 x 20 mm

@ BECKER




